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Test Date: 19/09/2018

Test Time: 4:00 PM - 5:30 PM

Subject: Level 1

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 691352924
Option 11D : 6913523695
Option 2 ID : 6913523696
Option 31D : 6913523693
Option 4 ID : 6913523694
Status : Answered
Chosen Option: 3
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Question ID : 691352955
Option 11D : 6913523819
Option 21D : 6913523817
Option 31D : 6913523818
Option 41D : 6913523820
Status : Answered
Chosen Option : 4
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v 4 arsfrar
Question ID : 691352979
Option 11D : 6913523914
Option 2 ID : 6913523913
Option 31D : 6913523916
Option 4 ID : 6913523915
Status : Answered
Chosen Option : 4
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Question ID : 691352930
Option 11D : 6913523719
Option 2 ID : 6913523720
Option 31D : 6913523717
Option 4 1D : 6913523718
Status : Answered
Chosen Option: 1
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Question ID : 691352961
Option 1 ID : 6913523841
Option 2 ID : 6913523842
Option 31D : 6913523844
Option 4 ID : 6913523843
Status : Answered
Chosen Option : 2
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Question ID : 691352945
Option 1 ID : 6913523778
Option 2 ID : 6913523777
Option 3 ID : 6913523779
Option 4 1D : 6913523780
Status : Answered
Chosen Option : 4
Q7 s e & sfaerg # s & 20 #9 F o e o I g aRET dEgas i 27
Ans x 1 ﬁ %
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X4 H R e
Question ID : 691352982
Option 11D : 6913523925
Option 2 ID : 6913523927
Option 31D : 6913523928
Option 4 ID : 6913523926
Status : Answered
Chosen Option : 3
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Question ID : 691352926
Option 11D : 6913523702
Option 2 ID : 6913523703
Option 31D : 6913523704
Option 4 1D : 6913523701
Status : Answered
Chosen Option : 1
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Question ID : 691352920
Option 11D : 6913523680
Option 2 ID : 6913523678
Option 31D : 6913523679
Option 4 ID : 6913523677
Status : Not Answered
Chosen Option : --
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 691352922

Option 11D : 6913523685
Option 2 ID : 6913523688
Option 31D : 6913523687
Option 4 ID : 6913523686




Status : Not Answered
Chosen Option : --
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Question ID : 691352976
Option 11D : 6913523904
Option 2 ID : 6913523901
Option 3 ID : 6913523903
Option 4 ID : 6913523902
Status : Answered
Chosen Option : 4
Q; Respiration in animals from Class is through either gills or lungs.
Ans 1. Reptilia
X 2. Aves
« 3. Amphibia
/< 4 Pisces
Question ID : 691352977
Option 11D : 6913523906
Option 2 ID : 6913523908
Option 3 ID : 6913523907
Option 4 ID : 6913523905
Status : Answered
Chosen Option : 3
&' What is the lateral mirror image of IMAGE?
IMAGE Jaanl
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A B C D
Ans x 1. A
v 2B
X3 C
X 4D
Question ID : 691352954
Option 11D : 6913523813
Option 2 ID : 6913523814
Option 31D : 6913523815
Option 4 ID : 6913523816




Status : Answered
Chosen Option: 2

@1 Which pattern resembles closer to?
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clol<el<
Ans X 1A
X2D
X3 B
v

Question ID : 691352948
Option 11D : 6913523789
Option 2 ID : 6913523792
Option 31D : 6913523790
Option 4 1D : 6913523791
Status : Answered
Chosen Option : 4
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<3 37

x4 38

Question ID : 691352938
Option 11D : 6913523749
Option 2 ID : 6913523750
Option 3 ID : 6913523752
Option 4 ID : 6913523751
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

691352942

6913523765
6913523767
6913523768
6913523766

Status : Answered
Chosen Option : 2
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Question ID : 691352910
Option 11D : 6913523639
Option 2 ID : 6913523640
Option 3 ID : 6913523637
Option 4 ID : 6913523638
Status : Answered
Chosen Option : 2
°é1 Variations arising during the process of reproduction can be:
Ans X 1. Reduced
< 2. Modified
/< 3. Changed
« 4 Inherited
Question ID : 691352980
Option 11D : 6913523917
Option 2 ID : 6913523919
Option 3 ID : 6913523920
Option 4 ID : 6913523918
Status : Answered
Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352983
6913523932
6913523931
6913523930
6913523929
Not Answered

Ans
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X2 ?(AB + CD)

X 3 4/3(AB + CD)
x4 BE(AB - CD)
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352908
6913523631
6913523632
6913523629
6913523630
Not Answered
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Question ID : 691352944
Option 11D : 6913523775
Option 2 ID : 6913523774




Option 31D : 6913523773
Option 4 ID : 6913523776
Status : Answered
Chosen Option : 2
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Question ID : 691352972
Option 11D : 6913523888
Option 21D : 6913523887
Option 31D : 6913523886
Option 4 1D : 6913523885
Status : Answered
Chosen Option : 2
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Question ID : 691352991
Option 11D : 6913523961
Option 2 ID : 6913523964
Option 3 ID : 6913523962
Option 4 ID : 6913523963
Status : Answered
Chosen Option : 2
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Question ID : 691352978
Option 11D : 6913523910
Option 2 ID : 6913523912
Option 31D : 6913523909
Option 4 ID : 6913523911




Status : Not Answered
Chosen Option : --
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Question ID : 691352953
Option 11D : 6913523812
Option 21D : 6913523811
Option 31D : 6913523809
Option 4 ID : 6913523810
Status : Answered
Chosen Option : 3
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Ans 1. 0.7 ms!

v 2 0.7 ms?
X 3 0.7ms!
X 4 0.7 ms?

Question ID : 691352959
Option 11D : 6913523835
Option 2 ID : 6913523834
Option 31D : 6913523836
Option 4 ID : 6913523833
Status : Answered
Chosen Option: 2
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Question ID : 691352932




Chosen Option :

Option 11D : 6913523725
Option 2 ID : 6913523726
Option 31D : 6913523728
Option 4 ID : 6913523727
Status : Answered
Chosen Option : 4
Qéz Which of the below is not an industrial application of ultrasound waves?
Ans 1. Drilling holes or making cuts of desired shape
/< 2. Ultrasonic detection of defects in metals
« 3. Ultrasonic removal of pesticides from a plant’s body
/< 4. Ultrasonic cleaning
Question ID : 691352963
Option 11D : 6913523849
Option 2 ID : 6913523851
Option 3 ID : 6913523852
Option 4 D : 6913523850
Status : Answered
Chosen Option : 1
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Question ID : 691352995
Option 11D : 6913523977
Option 2 ID : 6913523980
Option 3 ID : 6913523979
Option 4 1D : 6913523978
Status : Answered
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Question ID : 691352946

Option 11D : 6913523784
Option 2 ID : 6913523783
Option 3 ID : 6913523781
Option 4 ID : 6913523782
Status : Answered
Chosen Option : 2
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352907
Option 11D : 6913523626
Option 2 ID : 6913523627
Option 3 ID : 6913523625
Option 4 ID : 6913523628
Status : Answered
Chosen Option : 1
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Question ID : 691352999
Option 11D : 6913523993
Option 2 ID : 6913523996
Option 3 ID : 6913523995
Option 4 ID : 6913523994
Status : Answered
Chosen Option: 3
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Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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Question ID : 691352957
Option 11D : 6913523828
Option 2 ID : 6913523827
Option 31D : 6913523826
Option 4 ID : 6913523825
Status : Answered
Chosen Option : 4
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Question ID : 691352937
Option 11D : 6913523746
Option 2 ID : 6913523748
Option 3 ID : 6913523745
Option 4 ID : 6913523747
Status : Answered
Chosen Option: 3
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Option 21D :

Option 1 ID

Option 3 ID
Option 4 ID
Status
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352934
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Answered
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Option 2 ID
Option 31D
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Status

Question ID :

691352981

1 6913523922
1 6913523921
1 6913523924
1 6913523923
: Not Answered
Chosen Option :
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Question ID : 691352904
Option 11D : 6913523616
Option 2 ID : 6913523615
Option 31D : 6913523614
Option 41D : 6913523613
Status : Answered
Chosen Option: 1
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Question ID : 691352909
Option 11D : 6913523633
Option 2 ID : 6913523634
Option 31D : 6913523635
Option 4 1D : 6913523636
Status : Answered
Chosen Option: 1
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Question ID : 691352962
Option 11D : 6913523847
Option 2 ID : 6913523845
Option 31D : 6913523848
Option 4 ID : 6913523846
Status : Answered
Chosen Option: 1

Q.4 “When elements are arranged in the order of increasing atomic masses, the properties of the first element is similar to
2 those of the eighth element like with musical notes” — this law is known as:

Ans X" 1. Mendeleev's law

/< 2. Moseley periodic law




+ 3 Newlands law of octaves

/< 4 Dobereiner’s law of triads
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Question ID : 691352974
Option 11D : 6913523893
Option 2 ID : 6913523895
Option 31D : 6913523894
Option 4 1D : 6913523896
Status : Answered
Chosen Option : 2
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Question ID : 691352941
Option 11D : 6913523762
Option 2 ID : 6913523763
Option 31D : 6913523761
Option 4 ID : 6913523764
Status : Answered
Chosen Option : 4
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Question ID : 691352905
Option 11D : 6913523617
Option 2 ID : 6913523618
Option 31D : 6913523620
Option 4 ID : 6913523619
Status : Answered
Chosen Option: 3
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 691352985

: 6913523939

: 6913523938

: 6913523940

: 6913523937

: Not Attempted and Marked For Review
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Question ID : 691352992
Option 11D : 6913523968
Option 2 ID : 6913523967
Option 31D : 6913523965
Option 4 ID : 6913523966
Status : Not Answered

Chosen Option : --
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Question ID : 691352964
Option 11D : 6913523855
Option 2 ID : 6913523856
Option 31D : 6913523854
Option 4 ID : 6913523853
Status : Answered

Chosen Option : 4

e & e oty e o
Ans - X 1. 8 km/hr
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X 4 7 km/hr

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question ID :

691352915

1 6913523660
: 6913523657
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1 6913523659

Status : Not Answered
Chosen Option : --
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913521000
6913523997
6913523999
6913524000
6913523998
Not Answered
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352989
6913523955
6913523956
6913523953
6913523954
Not Answered

°1'5 oxides react with acids as well as bases.

Ans - X 1. Neutral

/< 2. Basic

X 3. Acidic

« 4 Amphoteric




Question ID : 691352973
Option 11D : 6913523892
Option 2 ID : 6913523890
Option 31D : 6913523889
Option 41D : 6913523891
Status : Not Answered
Chosen Option : --

% sl wafy & =wor i s &
Ans  of 1. ms2

X 2 mg?

/< 3. ms

X4 m1

Question ID : 691352956
Option 1 ID : 6913523822
Option 2 ID : 6913523823
Option 31D : 6913523824
Option 4 1D : 6913523821
Status : Answered
Chosen Option : 1
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Question ID : 691352951
Option 11D : 6913523804
Option 2 ID : 6913523802
Option 3 1D : 6913523801
Option 4 ID : 6913523803
Status : Answered
Chosen Option: 3

Qf Which amongst the following GECs broadcasts *“Comedy Nights Live®?




Ans X 1. Sony TV

X 2 Star TV
/< 3. Comedy Central
' 4 Colours
Question ID : 691352984
Option 11D : 6913523935
Option 2 ID : 6913523936
Option 31D : 6913523933
Option 4 ID : 6913523934
Status : Answered
Chosen Option: 1
Q.5 . *
s HIANITH HT WAV FET 12 F| FHA TSRl F47 greir?
Ans | +2
2.3
3. 2
4 +3
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352975
Option 11D : 6913523899
Option 2 ID : 6913523898
Option 31D : 6913523897
Option 4 ID : 6913523900
Status : Answered
Chosen Option : 1
Q.5 s 3Er ¥ 6 7% F BU w vowe O, OEd B 3o 120 dEEE @ s 9w
6 smraftufy & SROT, 3 Ig B 4 A F TeA BT & T S T 50 et A s @
9T T@aT =fge?
Ans o 160 FHTEAT
< 2 70 HISHT
2 340 EAT
< 4 50 HISHT
Question ID : 691352913
Option 11D : 6913523649
Option 2 ID : 6913523652
Option 31D : 6913523650
Option 4 ID : 6913523651
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352928
6913523711
6913523712
6913523710
6913523709
Answered
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X4 4

Ans x
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X3 IfEEw
X 4 FUERY
Question ID : 691352918
Option 11D : 6913523670
Option 2 ID : 6913523671
Option 3 ID : 6913523669
Option 4 ID : 6913523672
Status : Answered
Chosen Option : 3
Q.5 Zer-arlr & 50T 7 4/5 ST gy WT| Fw 20 ey A W BHevr F oy 5 oex e i e S
¥ o v B # gy w SR geT
Ans X136
v 2 64
K3 75
X4 44
Question ID : 691352911
Option 11D : 6913523642
Option 2 ID : 6913523644
Option 3 ID : 6913523641
Option 4 ID : 6913523643
Status : Answered
Chosen Option : 2
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Question ID : 691352967
Option 11D : 6913523865
Option 2 ID : 6913523867

Option 3 1D : 6913523866
Option 4 ID : 6913523868
Status : Answered
Chosen Option : 4
inwﬁr@?, & 3T Taat & B ¥ S R wia ofr = sweaw R E
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